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i ¢
AMALUINLTIADNANENT (Mathematical ‘Appendfx)

v

1. AANT minimize ¥ (y - ye)a wrt. a,b [f}m vy, =a+ bx

= t(a, b) -y - a - bx)°
D f£(a, b) =0%(y - a & bx)%a
g = =2 (y=a=>x) =20 socesl(l)
f(a, b) Sy -8 = bx)
D b )
L BEx €y - & = bx) = 0 aesee(2)
1 (1),2(y - a - bx) =0
E_y - an - bzx - 0
= an + bx B2 ¥ \s Ng's o 0 v04a(3)
30 (2) Ex(y - a - bx) =0

ny'- a(c‘.x - bEx'2

=4
aix+b€x2 =E_xy oo-ooo.oo("“)
wl s
'?Zvlﬂ')’] a,b 3¢ Lﬂu Solution gpgdunys normal equation | a
{ - ‘! "‘
an + bx" = Z ¥y 3 A/
aSxHUIES = 2. xy
‘_c' . ol
2. lunsim A Ty symmetric matrix 4:{aq
@(x' :ﬂt x) = 2 Ax
5 X
PN s - e { ™
Wg'm 41 §12..,,a1n X,
' ‘ ' < 3
x'A x a.\ x,‘, sz!cooxn; p %12 %22.‘..8;211 "‘2
BE :
\a‘ln &2n &nn X,
/ N /
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4
o (1, 1) 289 X'A 321

= (a11x1 +ay5X, +toees + a1nxn)

R
o (1, 2) 299 x'A.wztﬂu

Xi Foope . t A

= (a %, + 25.%, ke ?

Wad {2, 0) 209 X'A 321y

= (a,‘nx1 +ay Xy see + B xn)

X'AX = (q1 Xg + By o%s b ees t a1nxn) X,

+ (a ¥ o BRERE e a2nxn) X,

12%1 2972

+ eeo e e

+ (a, %, + /A RO TRD T o e o
( 1n™1 2n 2 -~ nn n) n

4
= Baq¥q + B XKy + e + B4 X X

2
ByoXqXy + 855K, + oeee + 85 XX

+ LB B B

2
wY WiILiFEWe ! x

+ a
2 n nn n

P s Pt ook -

1n*1*n »

2n

]

a 12 + 28, .X.X, + 2CapX,X, + + e KX
i B i | 1702 e e i iy L o e A o
2 .

+ as%X, + 2a23x2x3 + ees + 2a2nx2xn

+ L B BB I
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D (X'4X) : . s
Tx_]_— ,],“X,.l + u12x? 4 .... ¥ M1nxn,

o (X*AX) 3 4 ; :
953 XZ———«— = ‘.((.L,,Ex," + 855K, +oees + oA, X )

(X' AX)
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c MAIN PROGRAM . " , - 5 R
' DIMENSIONmngR(éov,STD(%G)hD(40).RY(40).ISAVE(40):B(4Q):
A SBU40) ,TC40) , W(40)

DIMENSION RX(1600)
DIMENSION R(820)

DIMENSION ANS(10)
1 FORMAT(A4,A2,15,212)

2 FORMAT(24H1MULTIPLE REGRESSION A4,A2/76X4914HSELECTION 1277
- (1) ; i

Y
+ 3 FORNAT(9HCVARIABLEp5Xv4HMEAN16X,8HSTANDARD,6XgllHCCRRELATION,4X,10
IHREGRESSION 94X, 10HSTDe ERROR,5X y8HCOMPUTED/ 6H NOeys 18X, 9HDEVIATIO

" 2Ny TXy6HX VS Y,7X,11HCOEFFICIENT,3X,12HQF REGe COEFe 93Xy THT VALUE)
.4 FORMAT(1H ,14,6Fl4e5) |

, 5 FORVMAT(10H CEPENDENT) ' ' »
6 FORMAT{1HO/10H INTERCEPT,13X,F1345//23H MULTIPLE CORRELATION ,F13

1e5//23H STDe ERROR OF ESTIMATE,Fl3e5//)
7 FORMAT(1HO,21X,39HANALYSIS OF VARIANCE FOR THE REGRESSION//5X41GHS

L10URCE OF VARTATTION, 7X, THDEGREES 57Xy 6HSUM OF 4 10X,4HMEAN, 12X, 7THF VAL
2UE/ 30Xy 10HCF FREEDOM 4 X, 7THSQUARES 9% s7THS GUARES )

8 FORMAT(30H ATTRIBUTABLE TC REGRESSICN 2 16,3F165/30H DEVIATION F
1ROM REGRESSION 1 16,2F16.5)

9 FCRMAT(1H ,5X,5HTCTAL,1GX,16,F16s5)
10 FORMAT(3612)

11 FORMAT(1H ,15X,1BHTABLE CF RESIDUALS//9H CASE NCe 35Xy THY VALUE, 5X,
L10HY ESTIMATE 6X,8HRESIDUAL)

12 FORMAT(1IH 4y 16,F15+5,2F1445)
A 13 FORMAT(53H1NUMBER OF SELECTIONS NCT SPECIFIEDe JOB TERMINATED)

14 FORMAT(52ZHOTHE MATRIX IS SINGULARs _THIS SELECTIGCN IS SKIPPED.)
100 READ (1,1,END=950) PRyPRL N MyNS

REWINT 5
10=0

X=0e0
CALL CORRE (NyMyT0y Xy XBARySTD yRXsRyD 4B, T)

REWIND 5°
IFINS) 108,108,109

I08 WRITE(3,13)
GO TO 3900

097D0 200 T=1,NS - -
WRITE(3,2) PR,yPRI1,I

o READ(L, 10D NREST,NDEP K, (TSAVE(J) ,J=1,K)
CALL CRDER (MyRyNDEP,K,ISAVE,RX;RY)

| CALL NINV (RXyK4DET,B, T
IF(DET)>112,110,112

C» 110 WRITE(3,14) E - -

GO 70 200 -
- 112 CALL MULTR (NyKyXBAR, STD,0,RX,RYy ISAVE, B, 5B, T4ANSY ~
MM=K+ 1

WRITE(33)
DD 112 J=1,K

““‘”““_KEISAVE(J)
115 WRITE(3,4) L.XBAR(L).STD(L),RY(J),B(J).SB(JL{T(J)

T RRTTETS 90 :
L=ISAVE(MM)

B WRITE(3747 L3 XBARTLCI; STODTY




 WRITE{(3,6) ANS{(1), ANS(Z) ANS({3)

105

WRITE(3,7) ’
L=ANS(8)

WRITE(3,8) K,ANS(4) 4ANS(6), ANS(lO);LrANS(?)vANS(9)
L=N=1

SUM=ANS (4)+ANS(T7)

- WRITE(3,9) L,SUM

120

TFCNREST) 200,200,120
WRITE(332) PR4yPRL1,I

WRITE(3,11)
MM=1SAVE(K+1)

DO 14C II=1,N
READ(C5) (W(J)'J—l M)

SUM=ANS(1)
DO 13C¢ J=1,K

130

L=ISAVE(J) ;
SUM=SLM+WIL)*B(J)

140

RESI=W(MM)=SUVN
WRITE (3,12) II:N(MM),SUMoRESI

200

REWIND 5
CONTINUE

300

GO TO 19¢C
CCNTINUE

- 9350

STOP
END

P i

SUBROUT INE ORDER(M,R,NDEP,K,ISAVE,RX,RY)

DIMENSION R{1),ISAVE(L1) sRX(1),4RY (1)
MM=0

DO 130 J=1,K
L2=1SAVE (J)

122

IF(NDEP=-L2)122,123,123
L=NDEP+(L2%L2-L2)/2

123

GO TO 12°2
L=L2+ (NDEP*NDEP-NDEP) /2

125

RY(JI=R(L)
DO 129 I=1,K

LI=TSAVE(])
IF(L1=L2)>127,128,128

127

L=L1+(L2*L2=L2)/2
GO TO 129

128
129

L=L2+(L1*L1=-L1)/2
MM=MM+1

130

RX{MMI=R(L)
I SAVE (K+1)=NDEP

- RETURN

END




SUBROLTINE CORRE (NyMsICyXyXBAR,STDsRXsR+8,0,T)

DIMENSTON X (1) s XBAR (17, STD(I)pRX(l),R(l) B(1),0(13,T(D) ; i

DO -100 J=1,M

B(JI=C.0
160 T(J)=C.0

K=(M#N+M) 72
DO 102 I=1,K

102 R(IJ)=C0.0.

FN=N

L=0
IF(10)105,127,105

185 DO 108 J=1,M
DG 1C7 I=1,4N

L=L+1
1607 TONI=T(JI)«X(L)

N

XBAR(JI=T(JI)
108 T(JI=T(JI/FN

DO 115 I=1,4N
JK=0

) G
DO 110 J=1,M

L=L+N
D{JI=X(LI=T(J)

110 B(JIY=E(J)I+D(J)
DO 115 J=1,V

D0 115 K=1,J
JK=JK+1

77115 ROJKI=R(JKI+D (I *D(K)

GO TQ 205

127 TF(N=F) 130,130,135
130 KK=N

-

GO TQ 137
135 KK=M

137 D0 14C T=1,KK
CALL DATA (M,D)

DOTT140 J=17M .
T(J)= T(J)*D(J)

L=
140 RX(LI=D(J)

FKK=KK
DO 150 J=1,NM

,pnm______YY_ Tt

XBAR{I=T{J)
150 T(J)I=TLJI/FKK

DO 180 I=1,KK

JK=1
DO 170 J=1,M

[=C+T
170 D(JI=RX(L)=T(J)

DO 180 J=I, M
B(J)=8(J) D (J)

DO 180 K=1,J
JK=JK'+1

180 R{IJKIERTIKITFDTITHUTKD
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IF({N=KK) 205,205,185

185 KK=N=KK S
DO 200 I=1,KK

JK=0
CALL CATA(M,D)

DO 160 J=1,V "
XBARCJI=XBAR(J) +D(J)

DELHI=C(II=T (I
190 B(J)I=B(J)I)+D(J)

DO 2C0 J=1,M
DO _2CC K=1,J

JK=JK+1
200 R(JK)I=R(JK) +D(JI*D(K)

205 JK=10
DO 210 J=1:M_

XBAR (J)=XBAR( J) /FN
DO 21C K=1,J

JK=JK+1 .
210 R{JKI=R{JIKI=B({JI%®B{K)/FN

=0
DO 220 J:1,M

JK=JK+J
220 STD(J)I)=SQRT (ABS(R(JK)I))

DC 230 J=1,M
DO 23C K=JyM

JK=J¥ (K¥FK=K) 72
L=M% ( J=1) +K

RXCL)Y=RCJK)
L=M*(K=1)+J

RXTL)=R(JIK)
IF(STCLJUI*STD(K)) 225,222,225

222 R(JK)=C.C
GC TO 230

225 ROJKI=RCJIK) /(STD(JI*STD(K))
230 CCNTINUE

FN=SQRT(FN=1.012
DO 24C J=1,V

240 STO(JI=STO( IV /FN
L==V

DC 250 I=1,W
L=L+M+]

22U B {I)=RX(L)
RETURN

T 23 END

gy T
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SUBROUTINE MINV(AsNyD,L M) ~
DIMENSION A(1),L(1),M(1)
D=1 00 “
NK==N : SN _
DO 80 K=1,N : |
NK=NK+N '
L(K)=K
M{K)=K - :
KK=NK+K . 8
BIGA=A(KK) ' S !
Ea D0 20 J=K,N_ = i
TZ=N*(J=1) ' ' ‘
DO 20 I=K,N
TJ=1Z+1
10 IF{ABS{BIGA)=ABS(A({1J)))15,20,20
15 BIGA=A(TJ)
SL{KI=1
MKI=J
20 CONTINUE . ~ !
J=LTKD ' ,
, IF(J=K) 35,35,25 :
25 KI=K=N
DO 30 I=1,N
KI=KI+N
HOLD==A(KI)
JI=KI=K+J
: A(KII=A(JD)
N ACiD=HOLD
35 I1=M(K)
[F(T=K) 45,45,38
38 JP=N*(I-1)
DO 40 J=1,N
JK=NK+J
JI=JP+J 7
HOLD==A ( JK)
ACIKYERTID
40 ACJI)=HOLD .
T 45 IF(BTIGAY 4B,4¢,48
. 46 D=0.9 »
T T TTRETURN T : ]
48 DO 55 I=1,N '
IF(I=-K) 5C,55,50C
50 IK=NK+I
TR T AIKI=A{IKY /(=BIGA)
55 CONTINUE
T D0 65 I=1,N
IK=NK+I
ROLD=ATTRKD
IJ=1-N
D0 65 JEIS;N
1J=TJ+N"
T T ECT=KY 605 65560 y
CZ RJI=1Jd=1FK

S IRV G SESSs—




A(IJ)-HOLD*A(KJ)#A(IJ)
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€5 CONTINUE ’
KJ=K=N

DC 75 J= 14N
KJd=KJ+N

IF(J=K) 7C,75,7C
70 A(KJI=A(KJ)/BIGA

75 CONTINUE
D=D*BIGA

A(KK)=1.0/BIGA
80 CONTINUE

o

K=N
100 K=(K=1)

IF(K)150,150,105
105 I=L(K)

IF(I-K)120,120,108
108 JQ=N*(K=1)

JR=N*(I-1)
DO 11€ J=1,N

JK=JQ+J
HOLD=A{ JR)

JI=JR+J
A(JKI==A(J])

110 ACJTY=HOLD
120 J=M(K)

T IFUJSK L0, 100,125
~ 125 KI=K=N

- DC 1380 T=1,N
KI=KI+N

HCLD=A(KI)
JI=KI=K+J

A{KIdI==A(JI)
130 A(JIJ)=HOLD

GO TO 197
150 RETURN

eND

SUBROLTINE DATA(M,D)

DIMENSION D (1)
1 FORMAT(24F3.0/2F3«0/14F3.0)

_C SAD 31652=€¢9 yMON4/1C /1971

) D(1) =D(1)=40.75%D{24)=0e23%D(3)
1 +0e24%(ABS(D(29)+D(30)+D(31)+D(32)=800.0))
2 =Ce38%D(30)+0+22%D(35)
2 +e22%D(35)

D(5)=0(5)/1C0C
D{6I=0(5)%%2

D(7)=D(5)%%3
D(8)=C(5)*x4

WRITE(S)Y (D(I),I=I,M
RETURN *

END




SUBROLTINE MULTR (N oKy XBAR, STDDyRX,RY, ISAVE, B,S8,T,ANS)

SN AL Do o LR WAL CERIRENSY St WS

110

1

DIMENSION XBAR(1) STDCYL) 4DC1) ,RXCL),RY (1),

T(1),ANS(1)

ISAVE(L1),B(1),S8(1)

MM=K+1
DC _10¢ J=1,K

1C0

DO 118 J=1,K

Li=K*x(J=1)
DO 11¢ I1=1,K

110

L=L1+1
B(JI=BCJI+RY(II*RX(L)

RM=ﬂoC
B80=0.0

L1I=TSAVE (MM)
DG -12€ I=1,K

RM=RM+B (1)%*RY(I)
L=ISAVE(I)

120

BCII=B(1)%*(CSTD(LL)/STD(LI)
BC=BC+B (I)*XBAR{L)

50=XBAR{L1)=BC
SSAR=RM¥D(L1)

124

RM=SQRT (ABS(RM))
SSDR=D{(L1)=SSAR

FN=N=K-1
SY=SSCR/FN

DO 130 J=1,K"
Ll=K¥(J=1)+J

L=ISAVE(J)

125 SB8(J)=SQRT(ABS((RX(L1)/D(LII%SYI)

134U
135

MO EEITRAEITLE
SY=SQRT(ABS(SY))

FREK
SSARM=SSAR/FK

SSORM=SSCR/FN
F=SSARM/ SSDRM

.

ANSCII=BC
ANS(2)=RV -

ANS(3)=SY - =~
ANS( 4)=SSAR

ANS(5)=FK
ANS{6)=SSARM

ST TTANS{G)=SEDRN

ANSC73=SSDR
ANS{8)=FN

ANS(10)=F

RETURN
END '
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X “
Program Ui input data Wu Xi.

A
4
B S PR wuyuu observations
3
8 B P e Lﬂu?huau variables
i n = = =
1) 8y, £ (X = 7)) Oy =T
n n
£ e T.) T 8.7 %)
et o B s IR K e sa)
n

]
A
813} Sjk = sums of cross-products of deviations

oL m
gy E
i=] i'l 0.0000000(2)
‘: m
e T,
J
) £
3K ™
j:ﬂ__:&i. : 00001000(3)
] n‘!

S _
L{.) r'k - k - 0000-000(4)
J jj kk
rjk = correlation coefficients

j = Vot sy W s k=1,2, ..., m



6)

7)

=<| o

e
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.—-—JJ—‘S” 00000000(5)
v n=1
standard deviations
Y v om
S S
ﬁj gl ' ' .l.‘....(6)
J

regression coefficients
beta weights

k -1

SRR A 0

= Y

: % .th
intercorrelation of i
with dependent variable

independent variable

inverse of intercorrelation rij

d
g ol L e wu independent variables

standard deviation 284 dependent variable

standard deviation 90N jth independent variable

I’ 2, e ey k

= k

Y - b..X. 00.0.00.(7)
z joi
%

intercept

mean of dependent variable

mean of jth independent variable



3)

9)

10)

11)

12)

13)

SSAR

SSAR
D
Yy

3SDR

SSDR

5
JJ
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k
s Pty EhE )
i=1

multiple correlation coefficient

2

R 'Dyy oooaooo-(g)

= sum of squares attributable to the regression

= sum of squares of deviations from mean for dependent
variable

= D = SSAR
yy o-.ooooo(lp)

= sum of squares of deviations from the regression

SSAR/k 00000000(11)
SSDR/(n-k-1)
F-value
k " SSDR 00000000(12)
2 n=k-1
...k = variance of estimate
n = number of observations
r-l S2
= A et ety PO & I
¢
3

standard deviations of regression coefficients

sum of squares of deviations from mean for jth
independent variable
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) e, = 2 s 3
J 3
b
t. = computed t

—
]

'. 2, ) k
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